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1. If an economy is in equilibrium at the point where plan to save and to invest are equal; then

government expenditure must be; -
(a) Zero : ' (b) Egual to government income
(c) Larger than government income (d) Negative

vag B migafeenar G fiig %mﬁa%ﬁﬁm»@ﬁ@né’rmmaﬁ 3t
mﬁmmwwﬁl@%

(a) fhzw (b) FSAST MHEs ¥ 5IET

(c) FHILS niHES 5B T @ foz= -

2. Devaluation of currency will be more beneficial if
(a) Prices of domestic goods remain constant-
(b) Prices of exports remain constant
(¢) Prices of imports remain constant
(d) Prices of exports rise proportionately
HET" ¥ nRHBE TEeNe Jodr iq:
(a) uISY IR Eoit AT Af I T8
() fsIorst Tt szt rfge afdshr o5
(c) vzt Emit itHaT Rfg Ifdeng 95
@) f&Ior3t it izt g3 FoEnit 75
3.  Fiscal deficit in the Union budget means
(a) The difference between current expenditure and current revenues.
(b) Net increase in Union government’s borrowings from the RBL. A
{©) The sum of budgetary deficit and net increase in internal & external bo:rowmgs.
(d) The sum of monetised deficit and the budgetary deficit.
gre &9 fest we @ nigg 3
() TP uIE N3 UG s Renizg
(b) TS AIY 2 RBI &F QU g Hu =
(c) =W ure mi3 rviegat M3 Trodt Guet e o o) v s
(d) =AC R m3 Fefda w2 o g

4.  Assertion (A) : Agriculture is no longer the gamble of the monsoons.
- Reason (R) : There is recent expansion of dry farming in India
- (a) Both (A) and (R) are true and (R) is the correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(©) (A)is true, but (R) is false
(d) . (A)is false, but (R) is true )
5 (A) : dSES 9T HEps © g a?ﬂ' It
95 (R) : I93 9 s i At o femarg 3
@ T (A) 73 R) 3 T& »3 (R), (A) T A fenrfimor D
b T (A) "3 (R) aaaané(k),(A)e?nzﬁﬁmrwaﬁr%
) (A)SFIUWR)IHI I
@ (A) T3, WR) ST
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The Economic cost of food grains to FCI include the following : -
1. MSP including central bonus 2.  Procurement incidentals

3. Cost of distribytion - - " 4. Food grain losses -

(a) 1,2and3 (b) L, 2and4
(©1,2,3&4 - (d 2,3&4only

FCI § yg-nigat & wirafae a3 39 3t fe3 wiis o

1. J'Ed H5A 5% MSP 2. a3 yIst

3. BT FUS ‘ . 4. WSH T FAHS

@ 1,2m33 | ® 1,2n34

© 1,2,3734 _ (d) =T 2,3nm34

India’s ‘Green Actions’ does not include

(a) Cut in subsidies (b) Increased taxes on fossil fuels
(c) Increase in petrol and diesel prices (d) De-urbanising the economy
F93 T ‘Green Actions’ 29 mfis adt 32

(a) rafAset feg &dt - (b) vEde FHE €3 T &9

© UEmIFmmahstfReea () woafeeRw o d9-ridtads
Statistics is defined as the aggregate of facts affected by '

(a) One particular cause (b) Two causes only

(c) Muitiplicity of causes (d) Not affected at all
Riftmilt § feR ovrer ygres Jat ¥ 7 @ 39 3 ufoEs ot faer 3
(a) FEafamaes ) fAeTa

©) EIAI TP - (@) fooes yges &dt 9
Statistics is | .

(a) Anartonly (b) Art and Science 7
(c) Science only (d) neither Art nor Science
Fifemialt & :

() T ) FT& 3 fefoms

(c) frag fefomrs @) o m3 o fefoms

is a suitable method of collecting data in cases where the informants are hterate

and spread over a vast area.

(a) Mailed Questionnaire Method

(b) Direct Personal Interview Method

(¢) Indirect Oral Interview Method .

(d) Information Received through Local Agencies

e guaT O 8 U3 el 95 3 fers 85T R 88 05, . Foey REaEt a9s € gost

fedt 9

(a) T Tt B et yrspet fedt
(b). Y fenastas AuAsare fedt

(c) iy Hifte AuASerg fedt :
(d) FESA ERAM T YUz FEardt

Paper-II (Economics) 3



10.. Assume that you employ the following data while conducting a statistical investigation:-
i.  Estimate of personal income taken from RBI bulletin
ii.  Financial data of Indian Compames taken from the annual reports of Ministry of Law
and Company Affairs.
iii. Tabulation from schedules used in interviews that you yourself oonducted
iv. Data collected by National Sample Survey.

Which of the above is Primary data :
(@ Onlyi (b) Onlyiii
(c) iiandiii (d) i,iiandiii

s & f¥a Atftmiclt 7 395 99 IAt ot fo3 nisfor o yoiar aee J ¢

i. RBI g3fes 3 &2 T fon@Slas nMHEs © MiSHS

i, 55 w3 SUS Wit ¥ H3TS it Ao faliget R &2 a2 Fradt dudhet @
a3

iii, feafeq faodt 3 niy wiGfe3 St i, o9 23St it BStor fo9° Aradtaras

iv. mmmmmaﬁa@m

Bug fefantt f&5 faa3 Hed via3 6
(a) fraei ) frgeiii
(¢} ii ™3 iii , (D) i, i S i
11.  Which of the following is/are the basis (bases) of classification of data?
i.  Geographical ~ ji.  Chronological
iii. Qualitative iv. Quantitative
() i&ii (b) u&iv
(©) i,ii,iii &iv (@ iii&iv
st fefanit &5 faas niafont € T39iaEs o vag J ¢
i. sdeR : ii. oTEIHA
iii. gIIHI iv. JEEIHI
@ im3ii (b) iinSiv
(© i,ii,iii M3 iv @ i,iin3iv
12. Row heading in a table is called
(a) Caption (b) Stub
(c) Table Number (d) Title
- fex AraEt 99 I39 T Hi9Rd Ao@er 3
(@ TU=S o t) He
() FI Rftmr (@) TRy
13. According to Sturge s’ rule, the number of classes k is given by
(@ 1+3.322logN (b) 3 +3.223 logioN
(c) 10+ 3.22logoN (d) 10+0.322 logieN
Sturge ¥ f50H nigAma, k At &t fozdt fost At 3
(a) 1+3.3221og;N () 3+3.223 logoN
(c) 10+3.22logN (d) 10+ 0.322 logieN
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14.

The magnitude of class (i} is given by

(a) Upper Limit + Lower Limit/2 (b)
(¢)_._ Upper Limit — Lower Limit (d)
REPHZTE T wiorrg fifgr Afer

(@) . BuTH T+ T F2 ()

(c) GuIdt Avr - It A (@

Upper Limit — Lower Limit/2
Upper Limit + Lower Limit

BuISh v - It Fvr/2
Buast v + 5wt A

15.  The algebraic sum of deviations of a given set of observations from their arithmetic mean is
(a) Always Positive (b} Zero
(¢) Maximum (d) Minimum
Bttt @ &3 @ R fie Gust 2 Hivs 3 2 o fommst o div afsft 33 D
(a) TN USIHI ) freg
(c) - mifter3H @) fogani

16. The formula for calculating probable error for coefficient of correlation is
(@ 1-An (b) 0.6745(1 -)Nn
(© 0647501 4o (@ Q-1

AfaRgy © IR BET AFE3 39t Of IS5 BT SOHS I

a) 1-rAh 0.6745(1 -r)An
8 0.6475(1 )i - 8:3 ( —rz)/(\fn-l ‘
17. Standard Deviation is always mean deviation:
(a) Greater than or equal to (b) Lessthan
(¢) Equalto , (d) Less than or equal to
iy feoss i o fee@s e dord '
(a) niftx A 959 (b) ue
(c) &=9 (d) uleA g9

18. Relationship between Q;, Q> Qs and Md is given by
(@ QsQ=Md<Q; ) QA 2Q=Md<Q;
© Q=Q=Md=2Q; d) QAQAQsQ=Md
Q1, Q2. Q3 »iz Md fegerg Ady fisr e 3 -
(@ QisQ:=Md=<Q; b)) Qi 2Q:=Md<Q
(©@ Q=Q=Mdz2Q; ) Q+QBsQ=Md
19. The empirical relationship between mean, median and mode - for a moderately -
asymmetrical distribution is given by
(@) 3 Mean -2 Median _ (b) 3 Median + 2 Mean
(¢) 3 Median - 2 Mean (d) 3 Median— 2 Mean/2
fEa R3S MK 38 S Hors, Hithie »i3 598 ©F YGdItHg R fosr famr 9 ¢
(@ 3 Faus - 2 Wit (b) 3 Hftmiar + 2 HaHs
() 3 Hftm@r - 2 Hous (d) 3 M - 2 Hos/2
20. If the coefficient of quartile deviation is 0.6 and Q.D.= 15; then Q, & Qs are

(a) 10 and 40 respectively (b) 40 and 10 respectively
{c) 50 and 30 respectively (d) 20 and 60 respectively

Ao9 9395 feuss & I8d 0.6 »2, Q.D.= 15T Q,, »3 Q; T6
(a) TIHTT 10 »i3 40 ' (b) FHIT 40 M3 10
() FHTSONI 30 : (d) FHET 20 M3 60

Paper-1I (Economics) 5. ' "D




21.

22.

23.

24,

285.

Coefficient of determination (°) is given by
(a) Total Variance/Explained Variance

(b) Explained Variance/Total Variance
(¢) Unexplained Variance/Total Variance A
(d) Explained Variance/Unexplained Variance

faguras & gEa () iz wer 9
(a) I fBaz/mine f¥a37 ®) W%ﬁ?@&@w
(c) wRURE f8az/ds fEaar (d) FuRe FBa3mirure fEasr

The consumer price index for a group of workers was ¥ 250 in 1994 with 1980 as the base.
The purchasing power of a rupee in 1994 as compared to 1980 is

(a) T2.50 (b) 040

() T0.80 (d 025

1994 %9 1980 WU A& &% aoHardmi ¢ fa AT SEt QUSTsT Foamid 250 JuB At
1994 f¥g udte HarSt 1980 © Ha'ES 3

(@ T250 ‘ (b) T0.40

(c) X0.80 (d T025

Mean of 20 values is 45. If one of these values was wrongly taken as 64 instead of 46, then
corrected mean would be

(a) 44.1 - (b) 459

() 42.1 (d) 434

20 H& & niFg 45 1 W%%mamﬁm4ﬁﬁwmﬁwml Adt
WA 3t _

(a) 44.1 ' " (b) 45.9

() 421 ' (d 434 i

Consider the function y = (x — 2)°(x — 3)°. Which of the following is correct in respect of
this function

(a) There exists maxima at x =2

(b) There exists minima at x =2

(c) There exists maxima at x =3

(d) There exists neither maxima nor minima at x =2

@5 y=@x-2°(x-3)° a%maﬁnm%ﬁéu%a%a%@mﬁvﬁwnﬁ%

(a) P x=2‘3Jor

(b) x=2 3 tHian Jer ]

(c) Rafmmx=3‘3gerd

(d) x=23 & Aafmr g 3 &t fHfs

For a function y = f{(x); the condition for maxima to exist is

(a) d’y/dx* should be positive (b) d’y/dx? should be negatlve

(¢) d%y/dx? should be zero - (d) Value of d*y/dx* should be infinite.
eH6 y = fix) BT, Rafinr @ 9= < /fadt 3 -

() d&Eydl mwEsHEIE AT I () dydd  faezHa & gdier 9 -
(© dyid? faeg Joodier d (@) dydd T s wifsafas J ader 3
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26. The slope of AC is given by

(8) 1/q(AC-MC) | () 1/q (MC-AC)
(c) lq(AC+MCO) (d) q(AC-MC)
AC @ ez ot ot 3
(@) 1/g(AC-MC) _ ) 1/qMC-AQ)
(©) 1/q(AC+MC) (d q(AC-MO)
27.  If consumption function is given by C = 100 + 0.8Y. Then the value of multiplier will be
(a) 0.8 : ) 100 .
(© 5 (d) 125
nad QuaarsT <os 3T famrr 3 C = 100 + 0.8Y I & H® T
(a) 08 _ ) 100
() 5 : (d 125
28. For the demand function X = 100 — 4p — 2p®. The price elasticity of demand at p = 5 is
@ 1 ) 0.007
© 0 @ 4 |
HI1 %5 X = 100 - 4p - 2p* &Et p=5 I Har &t 3 SO
(@ 1 | - (b) 0.007
() 0 @ 4
29. The standard deviation of natural numbers 1 to 5 is
(a) 1414 : ' (b) 2.326
() 1432 o | @ 4.263
1 3 5 yfasfsa Afimret & Yy feass 3
(@ 1414 @ () 2326
(© 1432 @ 4263
30. In anormal distribution, arithmetic mean + Quartile deviation would cover
~(a) 50 percent of the items (b) 80 percent of the items
(c) 68.27 percent of the items (d) 57.51 percent of the items:
f¥a Augs Tgaiass ¥ HoHs + 939ad feeme ular
(@) HetEsoySiEs (b) HET T 80 YIins
(c) et ¥ 68.27 YIS (@ wet e 57.51 YEtEs
31. - The value of correlation coefficient is termed to be highly significant if
- (@) risless than P.E.(r) ~ (b) risgreaterthanP.E.(r)
(c) rislessthan 10P.E.(r) - (d) ris much greater than 6P.E.(r)
Afoddy I=i o S wif3 Areex faar arer 3 fee
(8 rPE@Maduzd () 1, PE@ &30

© 1, 10P.E() &3 e ¥ @ r6PE@FEIY
. Paper-1I (Economics) 7 : . '



32

33.

35.

36.

37

The value of correlation coefficient ranges from

{(a) Otol () Otow : A
(c) -1tol (d) —wtowo : o
RiofdT @ e ¥s der d |
@ 0313 ) 03 w3
© -1313 _ @ -oF 03I
The ranks accordlng to two attributes in a sample are given below
R:12345
R:x54321
The rank oorrelat:on between them is:-
(@ 0 ®) +l
(©) (d) None of these
ﬁaﬁu&ﬁ‘aew%m%ﬁﬁﬁa@mﬁ%&a@aﬁ
Ri:12345
R»x54321
Qawt feu wawr AfgRdy 3§
(@ O ®)
(¢ -1 ' (d) ﬁsaarﬁ‘aaéraﬁr

If value of r is computed to be 0.8; it implies that
(a) 80 percent of the data are explamed

(b) 80 percent of the data are unexplained -

(c) 64 percent of the data are explained

(d) 64 percent of the data are unexplained

Hed ¢ € W® o aar 0.8 3, ferer nigw 3:

(a) 80 ySte3 nigd AUFE 05 (b) 80 YSTHI Wi NAURE T .-
(c) 64 YStH3 a3 AuRE 75 (d) 64 YIIHI Mid3 nifUEE I5 -
Which of the following is correct in case of relationship betweenS.D-and Range'?
(a) S.D.=1/6 Range (b) S.D. =6 Range

() S.D.=Range S.D. = 3/2 Range
. i3 s e s e 3+ fef 49 o P 3

(a) S.D.=1/6fermag ®) S.D.=6ferE

(¢ S.D.=ferag (d) S.D.=32ferEe

The samples A and B have the same standard deviations; but the mean of A is greater than
B. The coefficient of variation of A is

(a) Greater than that of B ~ (b) - Less than that of B

gﬂw Equal to that of B (d) not defined at all
A»@B?wﬁmm% Ud A & HOHS B &8 F0 I A?ﬁmm%

(a) B&& U (b) BIue -

(c) BT EIET o @) ufgemEs &R I

Sum of deviations of the items from the is always zero.

(a) Median (®) Mean

(¢) Mode d Geometnc Mean

ford___ SfesromEoamfeadod

(a) MfmEr _ () ¥HOHS

(c) =B (@) v afsst vons

N
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38. Which of the follow::ng are the objectives of the Comrmssmns for Agricultural Costs and
Prices (CACP)? _

L
I

HI
Iv.

(a)
©)

To stabilized agricultural prices.
To ensure meaningful real income levels to the farmers.
To protect the interest of the consumers by providing essential agncultural

- commodities at reasonable rates through public distribution system.

To ensure maximum price for the farmer.
L 11, IIL. (b) LILIV '
II IIL, IV LIV

w&mﬁq@mwmmmmmmé@wmw

L
IL

IIL

Iv.
(a)

(c)

u3t vt § Afag o

mwmwmmamm@
mﬁﬁwsma@ﬁmaﬂw‘%&mma
Sugam=t @ fost o Sfor agdt

farmst Fet vifussH shist & oels g=@zr
I, 11, HI | ® LILIV
ILHL IV @ ILIv

39, Which of the followmg were the aims behind the setting up of the World Trade
Organization (WTO)? :

L
IL.

IIL

IV,
(@
(c)

Promotion of free trade and resource flow across countries.

Protection of intellectual property rights.

Managing trade between different countries.

Promotion of trade between the former East Bloc countries and the Western world.
LILILIV : (b) ILII

LILIII (d LI

&mmm(ﬂO}ﬁmﬁéﬁwﬁﬁmﬁah@@@nﬁr?

L
1.

HI.
IV- 4

(a)
(c)

mﬁwammm%nﬁwe*wa

Hftet ua niftaarat @ S

Y-y o fogarg U T yEUs FEE o
FIAGIG YJH 9 eH »i3 Ut fere fegars wure @ AHOws
LILULIV (b) 1L

LILIIL o (@ LI

40. Regional rural banks

L
II.

I

have limited area of operatlon
have free access to liberal refinance facilities from NABARD
are required to lend only to weaker sections

(@ ILII ®) LILII

(©) LI | (d) onlyl
EECIDES- :

L Aifug gow ase D

I NABARD%‘%@@HW&'S’H&W?B’RWUUH%
1. . frae adte 39a § Gue iR a8 _

(@) ILII o (b) LILII

(¢ LII , (d) onlyl
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41.

42.

43,

Match the List I with List 11 and select the correct answer usmg the codes glven below the
lists:

List I ~ ListlI
A. NABARD 1. 1995-96
B. RIDF 2. 1982
C. RRB 3. 1998-99
D. Kisan Credit Cards 4, 1975
(a) A-4, B-1,C-2,D-3 () A-2,B-1,C-4,D-3
(¢©) A-3,B-4,C-1,D-2 (d A-3,B-2,C-1,D4
Hﬁlméﬂﬁllwﬁmaam%aaﬁ%aﬁérmmﬂﬁéaﬁai
gor I gatnn o
A. NABARD | 1. 1995-96
B. RIDF 2. 1982
C. RRB 3. 1998-99
D. forms dfse 93 4. 1975
(a) A4, B-1,C-2,D-3 () A-2,B-1,C-4,D-3
(¢) A-3,B-4,C-1,D-2 (d A-3,B-2,C-1,D4

Which of the followmg committees has been set up in India for identification of below
poverty line (BPL) families in urban areas?

(a) Tendulkar committee

'(b) Saxena committee

(¢) Lakdawala committee

(d) Hashim committee
mmﬁaaﬁw;wm&mwmﬁaw%wﬁam
FNST FETEL et &

(a) ST IH

(b) FIAS IRt

(c) I FHS

(d) Ty and

Arrange the chronological order of the launching of these schemes are
1. EAS 2.TRYSEM 3.JRY 4. RLEGP

(a) 24,13 (b) 423,

(¢ 4213 (d 2431

feost Aot § fEost ¥ &g 9= @ AW nigATS HET 9

1. EAS 2.TRYSEM 3.JRY 4. RLEGP '

(8) 24,13 | ®) 4231

(¢) 4213 d 2431
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45.

46.

47.

48

49.

. Those variables that the model tries to explain are known as:

(a) Exogenous variables _ (b) Endogenous variables

(c) Simple variables ~ (d) none of the above

8a 99 fist &t Ba 13w fenrfiprr a5 € afim oger 3, IT8T I&67

@ ¥ 9 () viegdtEs

(¢) FUISTI (D) BudI3 aTt &It

Who amongst the following was NOT the winner of Nobel Prize in Macro Economics ?

(a) Milton Friedman . (b) James Tobin |
" {¢) Robert Lucas (d) W.Phillips

w%@wﬁvmmﬁm—mﬁgmmﬁﬁ?aﬁ%?

@ feesdsns ! ®) F e

(c) dT99¢ BIH . (d) safeg. fefau

GDP deflator is: _

(a) Nominal GDP/Real GDP - {b) Real GDP/Nominal GDP

(¢) Nominal GDP — Real GDP (d) Real GDP — Nominal GDP

GDP ug8E T&' J -

(a) mEfed GDPMIAS GDP (b) »FS GDP/mafea GDP

(c) H®Efed GDP - »A% GDP (d) »F® GDP - Fafed GDP

If an Indian resident owns an apartment in New York, the rental income he earns is a part
of:

(a) United States GDP -~ (b) Indian GDP
(c) United States GNP (d) Indian GNP
ﬁaafeawéfenﬁaa%@waaﬁanwaeﬂz% @ﬂﬁﬁ-mem?rfaa@@rmﬁ?;
fra

(@) mra‘ts& GDP @ ' (b) 393t GDP =

(c) n»HIST GNP & | (d) 33t GNP &

National Income is:

(a) GDP- Indirect Business Taxes {(b) 'NNP- Depreciation

(¢} NNP- Indirect Busmess Taxes (d) GNP- Indirect Business Taxes
THSIT PTHES J: :

(a) GDP-mPZH@ydad (b) NNP- H& urer

(¢} NNP- miy3y 2ud &9 (dy GNP-nmZH U9 a9

In national income accounts, ‘consumption of fixed capital’ is commonly known as:
(a) Consumption of goods (b) Fixed capital

(c¢) Depreciation (d) Proprietors income

FHSS niEs 9 ‘Afag U+t & Qugar’ v 39 °3 S8 9

@ wFpiw Qe () g Yrt

(c) H®uwrer _ d) W T riHES
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51.

52.

53.

If the nominal interest rate is 8 percent and inflation rate is 2 percent, then the real mterest
rate is:

(a) 2 percent (b) 4 percent

(¢) 6 percent (d) 16 percent X

Aag FEfox fenrd o4 8 YIS O wi3 HeTREIS €9 2 ySiEs 9, %anmzvsﬁe'nmea%
(@) 2ysie3 ) 4ydm3
C(©) 6ySiH3 o @ 16yFEs

The accelerator assumes

(@) Constant MEC

(b) Constant multiplier

(c¢) Constant relationship between net investment and the rate of change of output
(d) Constant relationship between savmg and investment

39 THBUST T I

(a) AfEg MEC

(b) Fiag gsta

(c) 7y fadm w3 83ures & ufsesss ©3 &9 Afag RYu

(d) =93 n3 fasm 39 Afes ASa

An outward shift in Marginal Efficiency of capital

(a) Increase aggregate demand (b) Decrease aggregate demand - -
(¢) Decrease consumption (d) Increase consumption ‘
(@) B Ha g = . (b) IS Har feg it

() Susa R aft @) Susafdaw

If an increase in investment leads to increase in national income, it is called: - - .
(a) Accelerator (b) Multiplier '
(c) Monetarism (d) Apggregated Demand

a9 faen & = % THeH ninves &g oor gor 9, feg ao@er 3.

(@) 3_HR () I

(© FedeEs (d) oM

An increase in money supply in IS-LM model:

(a) Shifts LM curve downward (b) Increases income

(¢) Reduces interest rate (d) all of the above

IS-LM 135 &g vear &t yadt fig eur

(1) LM F9 g I 5 ufeeas3 9w 9
(b) nnes BT Y :
() form =g uwefed

@) Suisz A
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55.

57.

59.

Decrease in taxes in 1S-LM model

(a)  Shift IS curve to the right

(b) Decrease in income

(¢) Decreases interest rate

(d) All of the above

IS-IMysw fo agf R it -

(a) IS T3 § AN ¥ ufgeazz aoet D
(b) nrmHEs Y i aeet D

(c) fonma vq g it aoat 9

(@ Gudsz A

Which of the following is true with “Fiscal expansion’:
(a) Increase in taxes

(b) Increase in government purchases

(c) Shift aggregate demand to left

(d) Shift IS curve to left

‘et fersa’ &% ot R¥famtt 5 faazr At D

(a) oI fgag

(b) FAIAG yStEEdn 9 o

(©) &N 3 98 U ¥ ufdegss aodt 3

(d) IS a9 § o¥ I3 ufoeass aaet

Who amongst the following is NOT a new-classical economist ?

. (a) Robert Lucas ! ‘(b) Robert Barro
(¢) Milton Friedman (d) Edward Prescott
J&t fefantt 139° f3omr a2 wdugrerst nigarmst adt 37
(a) J°992 FIH . ) J=ge TS
(c) fiwes S5ie | (d) nse9s YRde
‘Output gap’ measures

(a) Actual Output - Consumption (b) Actual Output - Investment
(c) Potential Output — Actual Output (d) Potential Output — Investment
‘g 33’ HUEt J

(a) <r3fea G3ues - Gusar (b) <H3fex B3UTs - 2w
(c) FI=3 Q3ues - TAsfa B3ues (d) Fg=s B3uws - faom

Phillips curve describes the relationship between

(a) Real growth and change in unemployment rate
(b) Rate of inflation and rate of unemployment

(c) Rate of inflation and rate of employment

(d) Wages and real growth rate

fefou I3 feaat feus Adu v feeas aoet D

(@) RS feam mi3 Sgwardt w9 ¥ ufseess

() HeTHSE &t v9 w3 Aorardt S we

() HEIRSS & T3 w3 grard S T3

(@) g w3 wiRs feam 9
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61.

62.

Interaction of goods and assets markets jointly detenmne Can
(a) Interest rate and income (b) Interest rate and employment rate

(c) Interest rate and investment (d) Investment and consumption !
TR i3 Rut Fvret O USAUT yge f5aures aee G| ¢
(a) fenmi©g B s (b) ﬁmﬁeam%éaﬂanététea :
(o ferimean3 5w (@ faem w3 Qusar

" If the actual unemployment rate is below the natural rate of unemployment, it would lead

to

(a) Phillips curve would shift to the left

(b) Rate of inflation would increase .

() Natural rate of unemployment would fall

(d) Wages would fall

59 Sgwarst &t eHsfex v9 Sgwardt & gofex w9 3wl 3, fen &®
(a) fefeu <9 ¥ uR &5 ufesazs gt

(b) HeawREST € T8 et

(c) Fgrarst & I a9 wdft

(d) Hwedt wedlt

An increase in money supply would lead to

(a) Interest rate to fall, investment to rise and aggregate demand to rise

(b) Interest rate to fall, investment to fall and aggregate demand to fall :
(c) Interest rate to rise, investment to rise and aggregate demand to rise -
(d) Interest rate to rise, investment to fall and aggregate demand tofall
HeTr yast f¥e e Fqar

(a) fonm w9 9 @R, ﬁ@nﬁawn@a&ﬁaﬁaw , :
() fonms =9 RO ft, fsdm 2T it w3 & Yo & =it
© fm eI e ow, s s e m3gs o e s -
@ foorm 3 fiU T, fisom ¥ @it v g3 Har (fg it

The tough in business cycle occurs when

(a) Inflation is lowest

(b) Lowest money supply

(c) Aggregated economic activity is lowest

(d) Unemployment is lowest

qurg Jaa 2o HAgst w8 3 W

@ HeIwE 5Qei 3 ®) fe@asn wear yodt
(© I&noux fafor fs€aad  (d) Fgwerdt felaan 9

In the long run, increase in productivity would cause output to___ and aggregate price
level to

(2) fall, fall (b) fall, rise
(c) rise, fall (d) rise, rise
diow a5 f¥e, §3uas ¥ o @3ures e mi3 din3 Uug fee aaﬂaera
(@) f, T ® @, T
() T, it (@ U, =
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Stagflation occurs when.

65. :
(a) Price level increases and real GDP decreases
(b) Price level decreases and real GDP increases -
(c) Price level and real GDP decreases simultaneously
(d) Price level and real GDP increases snmultaneously
=5 gt O 7 :
(a) aﬁvﬂuuaéw%m%mcnpzﬁa?%
(b) SH3 U9 Wizer I mI »iEs GDP duet I
(c) M3 UUT M3 »iASB GDP s AN wee o6
(d) a3 Tug ni3 wiAs GDP ¥d AN due I6
66. In the long run, a reduction in*labour supply could cause output to ____ and aggregated
priceleadto '
- {(a) rise, rise ‘ (b) fall, rise
(c) fall, fall (d) rise, fall
Huars fg, g3 yI3t f¥e it G3ures ffo w3 e &tHs few Haér?r
(2 U, I (b) wzr, Tw
(c) wer, uer ) =, owrer o __
67. Keynesian aggregate supply curve takes which of the following shape ?
(a) Vertical {b) Horizontal
(¢) Both(a) and (b) (d) Noneof the above
ABHINS TS wﬁm%@ﬁﬁ»ﬁﬁémmw% 7
(a) == . (b) BT
© eé‘(a)m%(b) ) Budazs &=t &t
68. Money is neutral when the change in the money stock lead to change in -
' (@ Output (b) Price level
(c) Employment (d) Interest rate
HeTr foathy &t 3w yeer Aee g ufveass, fsnﬁauﬁeaasaa?%
(@ 8suws - (b) H3 UTg
. {c) THIT , (d) fenmmisw
69. The combination of wage-push by workers and government commntment to hlgh
_employment lead to: :
(a) Demand-pull inflation - (b) Cost-push inflation _
(c) Supply-side inflation - (d) Supply-pull inflation
mﬁwn@ma%mémwmﬁﬂwwmmﬁ
(a) . Ha-ffo yeawmetst (b) FE=E-UI HeaREE
(¢) YIS-td HeIHEIS (@ yIH-fife yeawdtst
70. 'Who amongst the following is regarded as the ‘father of macroeconomics ?
(8) Adam Smith () JM Keynes
(c) N.G. Mankiw _ (@) Schumpeter
It fefanit <8 fam § “HHEA wiaRFSe o fusrfad mer D 0
(8) »sH AfE (b) 7. M. Aad
(c) s+ Aesfar () . Hhiles |
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71.

72.

73.

74.

78.

Paper-i1 (Economics) 16

The reduction in investment with expansionary fiscal policy is known as
(@ Cyclical investment - (b) .Crowding out

(¢) Structural change (d) Deflation

fenfaz avaHt A1t & fsem e @t @ 3 -

(a) doH fs<m . (b) FEIAET

(c) TETS FEEM - (@ wiFEEt

Cost-push inflation is due to -

(a) exogenous event (b) shocks to aggregate demand
(¢) shocks to aggregate supply (d) none of the above
waE-tar Hedr Fetst fer &ras gt &

(a) ISt weE , (b) oS Ha g s

(©) &Yyt s (@ Gudas a=t &t

Disinflation is

(a) Decrease in overall level of prices
(b) Income after indirect taxes
(c) Reduction in the rate at which prices are rising

(d) Reduction in GDP deflator

() FHY M3 tug e it (b) PR3 TG I IE NTHES

(¢) o3t R T we R e (&) GDP wex &g @it

Which of the following is not a feature of demand for factors of production as compared to
commodities ?
(a) Itis derived demand.

(b) Itis governed by marginal utility of the factor.

(¢) Itisjoint or combined demand. . | _

(d) Elasticity of demand for a factor of production will depend upon proportion of the
cost of the factor to the total cost of production. :

wwﬁéwm@mm%mwﬁaamwﬁ

(a) fea fe@3is rard |

() fea 33 & Mz QuitoT Enirar fauisfes it ikt 3

(c) frra 9 & Fgas Har 3

(d) ‘m%maﬁﬁaﬁmewa@m?mm%m%

fsggg Sqat :

Chodse the inappropriate assumption of the marginal productivity theory :
(a) Perfect competition in market for commodities and factors of production.
(b) Homogeneous factors of production. ' o

 (c) Employer attempts to maximise sales and not profits.

(d) No factor unit is prepared to work at less than market remuneration.
HiHz G3ureasr it & niad a3 g8

(a) <A S M G3ues AT ¢ B T U9e s

(b) 8€3uwsa © RHJU A'US

(0 83uws feadt § mifterzH o395 | w36 39 3 & 0 &'

(@ &t As feardt a9 fHoess 3 il '3 dH &0 K9S I |

v A




76.

77.

78.

79.

80.

Value of marginal physicel _product_ié defined as:
(a) Marginal revenue product multiplied by price.
(v) Marginal physical product multiplied by price
(c) Marginal physical product divided by price. -
(d) Marginal revenue product divided by price.

Mz 3 G3ure & s ufgsis ol /e 3 ¢
(a) FHIZ nmHEs B3ue g olH3

(b). FHIZ Ef3x UedE g SiH3

(¢) W3 Sf3a uerga g oiH3

(d) HHZ nmiEs @3u I ST

Demand for labour depends on
(a) Marginal revenue product of labour

" (b) Average product of labour

{c) Cost of labour
(d) Marginal price of product
Hrgat &t Vil fs9sT seet 9

(@) MR @ A3 vnies B3ue ‘3

(b) HEgdr & WAS 83U '3
(c) HAgS T &Es ‘3
(@ 83ue & Az fns ‘3

Exploitation of labour is said to arise when

(a) Wage=MRP (b) Wage <MRP
() Wage>MRP . ' (d MRP=0
 fx93 o ins €35 JEr Y A
(@) S = MRP . (b) HAEd <MRP
() HWgdr >MRP (d MRP=0
Slope of PPC drawn in case of two goods is equal to
(@ MBSxy (b)) MRPTxy
(¢) MRTSxy ' (d) none of these
< SRt ¥ Adg fST gzt @it PPC deTERT
(a) MRSxy. . (b) MRPTxy
(&) MRTSxy (@) feost 9 &
World Economic Outlook is released by whom '
(a) Worldbank (®) IMF
(¢ WTO ; (d BRICS
(2) feme &a (b) IMF
(c) WTO (d) BRICS
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81.

What is the broad theme of Economic survey 2014-15 7 -

(@) Creating employment and reducing poverty

(b) Inclusive growth with sustainable development -
(¢) Creating opportunity and reducing vulnerability ' AL
(d) None of these -
nrIfE AT=UT 2014-15 o fenfgs femr eRg & 9 ¢

(a) mé@auﬁmm%mﬁwa@a

(b) f53z3 feam 5w Bfufss yast
(c) MEAI VT TH M3 Eaazvssfﬁwzr@&r
(d) fegst &9 St wcft

82. Makein India: .
(a) Not by protecting but by Eliminate Negative Protectionism
(b) Not by protecting but by Eliminate Positive Protectionism
(¢ By protecting but not by Eliminate Negatwe Protectionism
(d) None of these
Ha fes fEstmr
(@) ﬁ&wmaﬁmﬁt‘%ﬁf&n{samm
() BIfmr g & US3 TsHE A 3 u3H T
() WWW%@WW@EW@&E@
- (d) feTst feg a5t adt
83. What is the percentage share of States in Central divisible pool recommendation by
14™ finance commission ? '
(a) 425 (b) 325
(c) 42 (@ 41
-14%%%#%@%&@%&@%@%@?@3%&3
(a) 425 (b} 325
(c) 42 ' d 41 .
84. Horizontal devolution formula of 14™ finance commission: 5
Variable | Population | Population| - Fiscal Capacity/ | Area |Forest| Fiscal
(1971) (2011) Income distance cover | discipline
Weights 17.5 10 - 15 1 7.5 -
accorded ' '
(a) 500 () 0,50
(c) 24,26 (d) 265,235
142 23w o Horizontal devolution /a1o" 3 -
99 | FERfunr | AadTmr = U39eH | How | fest Anv
(1971) | o1y niHes &g s
&3 | 175 10 - 15 [ 75 -
<
(a) 50,0 , ) 0,50
{c) 2426 (d) 265,235 _ ,
Paper-II (Economics) ‘ 18 D



85.

86.

87.

89.

Which is the first Indlan Agricultural Product to be accorded by Geographlcal Indication

(a1y?
(a) Kerala’s Chengalikodan Banana  (b) Daqeelmg [ Tea
(c) Kerala’s Coconuts (d) West Bengal’s jute -

: mﬁﬁmﬁ(cnmwuﬁwmas&@mm% 7
(a) I T JAEATS ABT (b)) ToHiSASTET
(c) OATH T FOMH (@ U dars & uers
Which country will chair the 2016-BRICS summit?

(a) China - (b) Russia

(c) India (d) South-Africa
2016-BRICS Rust &t quwﬁ fagzr 28 Sdar

@ 95 ® 3m |
(c) &3 ' (d) e‘ua‘r nigdtar

To commemorate the International day of Yoga, the Reserve Bank of Ind1a (RBI) recently
announced to issue coins of which denominations ?

(a) %2 ) %5

¢ 10 @ %125

i3S G feen Ha'8T E, mﬁaaaaa%a%ﬁ%fanm-m%ﬁawﬁ
&I5 oF uRET Sst 9°

@ 23u® (b) 59U

{¢) 103u2 C : d) 1259w

Which scheme of Government of India (GOI) has been recogmzed by the Gumnems Book
of World Records recently ?

(@) Diréet benefit transfer of LPG

(b) Pradhan Mantri Jan Dhan Yojna

(c) Atal Mission for Rejuvenation and Urban Transformation
(d) Pradhan Mantri Awas Yojna
mﬁﬁamﬂmsﬂﬁmﬁﬁé}ﬂaﬁmaﬁmmﬁmmmm

G
(3) LPG & y3u 5@ It

(b)) Yus K3 75 OB GEsT

(0 afonr sy w3 Afad Juisds SEt vies His
(d) YO N3t MTH G

Which of the following is not correctly matched ?

(a) Silver revolution : Eggs (b) Grey revolution : Fertilizers
(¢) Golden revolution : Gold (d) Brown revolution : Masaaley
Jot fiffanit REF fom & Rt e &3 Jer 9

(a) U S i3 - (b) F®S ISt yEn

(c) mafast S : Aay (d) I FE: HAB

Paper-1I (Economics) 19 _ D

e

-



- 90.

91.

92.

Who is the author of this book ‘Planned Economy for India’ ?

(a) Pt. Jawaharlal Nehru (b) M.N Roy

(¢) M. Visvesyaryya (d) None of these
‘Planned Economy for India’UAsd o $ya &3 J -

(a) Ufs3 werae s sfag (b) M. W5 I

(c) . femdmedinr ) fegat &5 s &
The transformation curve is derived from the '
(a) Utility possibility curve (b) Consumption curve
(c) ~ Production contract curve (d) Social welfare
U395 I99 aEEt At d

(a) ButigsT Aes Jag 3 b SWaII T

(c) C3uesFgws wed F () PHWR afenE I
In case of ‘Giffen goods® a fall in price will lead to

(a) Increase in demand (b) Decrease in demand
(¢) No change in demand (d) None of these

fares uerget @ Rau g, oz g famree s34t

(a) HafRgeor ®b) Yo fig ot

(¢) Har f¥9 a=t ufaeass &t (d) feost feg dot &4t

93. Revealed preference theory is based on
(a) Weak axiom {(b) Strong axiom
(c) Both(a) and (b) (d) None of these
yare 397t T a3 naraz 9 |
(a) ST FES ‘3 (b) Y3 JEB ‘3
(©) TF (@) 3 (b) ) fegst &9 ot &t
94. Who propounded ‘Diamond Water Paradox’? '
(a) Marshall ' (b) Adam smith
(¢} Jevons (d) Hicks
dor-ydt fedusm & 3a-tw fard it Ate
(@ WIS 3 | (b) W3 AfE 3
() w3 d foar3d
95. The firm’s short run marginal cost curve is increasing when
(a) marginal product is increasing (b) - marginal product is decreasing
(c) total fixed costis increasing =~ (d) average fixed cost is decreasing
T & B B HIH3 B8 <9 <0 9 I e
() F'3 B3y Fu fagr (b) A= E3uw e faor I
(c) T RAfaT 9= Juadtd (d) A3 AfeT B9S Uz I3t D
96. The slope of the total variable cost curve equals
(a) average variable cost (b) marginal cost
c) average cost d) marginal physical uct
%uﬁaeasiaﬁameaaérmwéa)ﬁ Einel physical product
(a) A3 ufscasars B9 (b) N3 FEE
(c) WiA3 HAR (d) 3 3f3m G3ure

Paper-II (Economics) 20



97. In perfect competition, a firm maximizes profits on the long run by deciding
(a) What price to be charge (b) How much capital to use
(c) How much input to invest (d) None of these
yT% HarEs 9 o gon dow 3 &9 fea ere 8 & &9 wiftesy a9t 9
(@) o H3 B I (b) TS5 Uit & yoidr a5 9
(c) T&& vz v farn <97 9 (d) fegat &9 o=t &t
98. The AR curve and industry demand curve are same
(a) in case of monopoly (b) in case of oligopoly
~ {¢) in case of duopoly (d) in case of perfect competition .
AR TG i3 GT0EI HaT TG ANTG I6. -
(@) T ®) nrEufoas 9
(c) onifoas o ' (d yIs v e
99, In case of complimentary goods, cross elasticity of demand will be
(a) Negative (b) Zero
(c) Unitary (d) Infinite
YIS AN BE Har 2 mirdt B9 IR
(a) foe3Ha (b) fies
(c) fearst (d »d3
100. Income elasticity of demand will be zero when any given change in income brings
(a) less than proportionate change in its demanded. ‘
(b) no change in demand at all.
(c) same proportionate change in demand.
(d) more than proportionate change in demand.
Hd1 S »iHes o fAeT 34 7 nnves g a8t & ufaegss fenr@e 3
(@) fer € i e migurs & Wiz ufsesss
(b) ¥ &g &t ufgeess &It
(c) ¥ &g ms nigusa ufgeass
@) ¥a 39 nigur3 &8 uiz ufdeass
101. For a pair substitute goods, if there is a change in price of on commodity (X), then other
things remaining constant, the change in the quantity demanded of commodity Y is relation
to commodity X will be
(a) in opposite direction.
(b} no change in demand of Y.
(¢) change will be in the same direction.
(d) cannot be determined.
yfsmanus =agnit @ ¥ A3 B¢, Rae X @ng & ovs e ufsesss der 3, feg Jast
dter & AHTS 9oz ‘3 X IR ® HorEd Y eRg o Har 9t T e ufsses Jeam:
(a) foudts femr foo
(b) 'Y & Har <o &t ufaeess &t
(¢) ufgea3ss mvrs femr 9 d=ar
(d) fsIuras &dt i3 7 AReEr
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102. When income elasticity of demand is greater than unity, then the commodity is

(a) A luxury commodity {b) A non-related good ,
(¢) A necessity (d) Aninferiorgood }
e Har & nmes 39 feret 3 Fu Y 3F =Rg: 7
(a) f&a fewmzTenz I () ﬁéfailéﬂaueﬂsﬁ

(c) feangssd (d) Rauwdwarz I

103. .Demand curve of a normal commodity falls downward because

L
1L

IIL
V.

Real income of consumer increases.

Consumer substitutes dearer commodity with cheap commodity.

Law of diminishing marginal utility operates. |

It is easy to use downward sloping demand curve for analysis and prediction.

Which of the statement given above the correct ?

(a)
(c)

1
IL

1L
V.

()

IL1IL IV ' (b) L1V
I, I1, III . (@ All of the above

AUd5 SA3 & Voo Jot ¥ 3Rt 9, e
BUSTsT St niFS MHEs SuRt D
QuaTRT Hfdelt TRZ o ARET T3 a1 yfsFEas ST 3
wzdt i QUi  fsmi g Jer 9 '
mmmmma@wmwm@wwﬁ
L1L 1V (b) LIV
I, I, 11 ) S FAI ’

(©

104, The main purpose of proposing HDI was:

A. To assess the economic growth with main focus on per capita income and human
capital.

B. To emphasize that people and thgir capabilities should be the ultimate criteria for
assessing the development of a country.

C. To differentiate between the development perspective regarding national policy of
particular country.

(a) Both A and B are correct (b) Both B and C are correct

(c) Only B is correct _ . (@) All of the above

HDI Tt 37 96 © Hy 89 1t

A, ySt-foradEt nives w3 Hedt ¥t €3 1fu 359 &% nigest fea o fsguras Jaar

B. 3w a9or fa ¥ am ¥ fea o fisurds a5 &8t & w3 §uat Enft Bt 1
HUEs Jet grdidinr o5

C. f&a fenm or & IHed A131 ¢ Adu f¥e feam fpdiast fegara wisT a9&

(a) € Anm3 BHAI TS ®) ©F B3 CHA TS

(c) fReE B AIGTY (d) Cudas A
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105. Match the List I against List I and select the correct codes given below:

ListI = ‘ . Listll
A. Vicious Circle of Poverty _ 1.  Raul Prebisch
B. Saving Function 2.  Nurkse
C. Development and Underdevelopment 3.  Kalecki
D. Dependency Theory 4.  Robort Harrison Frank
(@ A-1,B4,C-1,D-3 () A-2,B-3,C-1,D4
(c) A-2,B-3,C4,D-1' (d A-4,B-2,C-3,D-1
gt 1 @ g 1 & fueE @ i3 o S dst RS Adt 9@
gt I get I
A, Jddterdude 1. 98w
B. #9355 2. B3R
C. feam n3 mivy feam 3. afsdt
D. . fsgs93 fAai3 4, Iade IIiFs g
(@ A<1,B4,C-1,D-3 (b) A-2,B-3,C-1,D-4
(c) A-2,B-3,C-4,D-1 (d) A-4,B-2,C-3,D-1
106. Match the List I against List Il and select the correct codes given betow:
List I | List IT
A. Indicative Planning 1.  Planning by direction
B. Totalitarian Planning 2.  Planning by inducement
C. Decentralised Planning 3.  Planning from gross roots
D. Democratic Planning 4.  Planning by flexibility
(a) A-4,B-1,C-3,D-2 (b) A-2,B-1,C-3,D-4
(6) A-2,B-1,C-4,D-3 ~ (d) A-4,B-3,C-2,D-1
B 1 = B 1 & T o mi 3ot RS ot 9 At 9R
g 1 S Fet I
A, Fosa Gweder 1. fomr oo Grardet
B. niftarefes drsset 2. TS onirg bRsTETt
C. feawdifys anarddt 3. voROYs 3 dnsdr
D. JFSTS GrerEet 4, BYET AT GHsEE
(8 A-4,B-1,C-3,D-2 ' ) A-2,B-1,C-3,D-4
(c) A-2,B-1,C-4,D-3 (d) A-4,B-3,C-2,D-1
107. How much of land area in Punjab is recorded under forests ?_
(@ 607 () 8.5
(© 100 @ 154
Uae e fdar ot aa'a Howst nidts faaras stz famr 3
(@) 6.07 | | (b) 85
¢y 100 : - (d) 154
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108. According to 201 1 Census, which district of Punjab has got the highest l:teracy rate

(a) Ludhiana (b) SAS Nagar -
(¢) Hoshiarpur (d) Jalandhar e
2011 F&aEe wgAg Ui @ fxad i S Avesree Qo 0
(a) Sfamre ' (b) WA. 2. AR, &9

(c) dfimmaum d) mSug

109. According to the All-India Debt and Investment Survey and NSSO, non-institutional
sources still provide finance to how much percentage of rural population of Punjab ?
(a) 219 (b) 29.7
(c) 368 ' (d) 306
AoT 393! foz w3 {590 AaeuzE w3 ‘AR € wigAt, 39 AAEEE AN o8 37 & ww &t
fdt ySmz U ashfinr & fe3 4T a9 987

(@ 219 b 29.7
(© 368 : (d) 306
- 110. Priority sector lending by banks include which of the following sectors ?
1. Agriculture 2. Education.
3.  Micro and small Enterprises =~ 4. Housing
(@ 1,2,3and4 ~ (b) 1,2and 3 only _
(c) 1,3 and 4 only “(d) 2,3and4only o
IR L= A 2. fifr
3. guH 3 2 BeN . 4. WA -
(@ 1,2,3nm34 ®) frez 1,2733
() fhHez 1,3n34 . @) frEs2,3n34

111. For an under developed country:

A. There is a high degree of correlation between the level of i income and the rate of
population growth.

B.  There is low propensity to direct addmonal per capita income to increase per capita
investment.

C.  There is scarcity of uncultivated land.

D. There are different production methods and absence of technological development

Given above statements choose correct answer below:

(a) A, B and C are correct (b) B, C and D are correct
(¢} A, C andD are correct (d) Al of the above
f&x niwy feafi3 on =2t

A. »hHES 2 U w3 AeAfter & feam ee fegarg 89 wow Afg Ada Jer
'B. ﬁumqﬁﬁmﬁmﬁeﬁqﬁﬁmﬁﬁ%ﬂéqﬁﬁﬂza

C. I9-ut it & g¥sz 9

D. f‘%ﬁﬁﬁwﬁe’waﬁm%saﬁa?ﬁwﬁma

Bug 3 aas" fog' st At @39 St ae &
(@ A,Bn»3 CRI IS (b) B,C,n3 D Fdt 53
() A,C,n3 DRI TE @) €Gudaz A
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- 112,

In Indifference Curves Approach, The consumer is in equilibrium when

(@) MRS,y =Py/Py <. (b) MRS,=PJ/Py

- () MRS, = P,/Px ‘ (d) Any of the above
Quriis T3g udu ¥, Budasr rizws R Jor I e ¢
(3 MRS,y,=P/P, (®) MRS, =PyP,
(€) MRS,,=P/P, d) Budas IE &

113.

14

115.

116.

117.

When total productivity; oﬁ a function is maximum then

(a) Marginal productivity is increasing

(b) Marginal productivity is decreasing

(c) Marginal productivity is zero

(d) Marginal productivity is negative :

Ae ¥ oua o aB G3ureas miftasH 3, fea

(1) AW Ssuwasr ¥ adtd (b)) AW EIuREsTWe It

(c) "3 @3uweas e @ FH3 esuess fas=a
In Cobb-Douglas production function; elasticity of substitution is:
(a) Equal fo Unity by >1 :
c) <1 (d) < Zero
FH-3aGH 83ures 2k T, YR 89 3
(@) fearEteEgme ® >l
© <l @ <fes
-Shutdown point in perfect competition in short period occurs at -
(a) Minimum point of SAC (b) Minimum point of SAVC
(c) Minimum point of SATC (d) Minimum point of AFC
Y3 yares Re sy s e de dz v fig @xds Jer @
-(8) SAC ® fa@azH fifg ‘3 (b) SAVC @ fa@a3H fig ‘3
(¢) SATC ® fo@a3n fig ‘3 (@) AFC 2 fsgaan fig 3
Equilibrium of profit maximizing monopolist occurs where:
(a) ED>1 | (b) ED<I
(0 ED=1 | (d) ED <zero
B8 MfTI=3H F96 TH éaTﬁ]arér o A3es 8305 Jur 9 fife
(8 ED>1 - (b) ED<I
(0 ED=1 o @ ED < fres
Under Coumnot’s Duopoly model; ethbnum output is (where n = number of firms):
(a) n/n+l . (b) n/n+2 -
(c) n/nt3 | (d) nn+4
FgaZ T Snifterdt H3S nidts, H3ss €3ue ? ( A8 n = s &t Aft’)
(a) n/ntl o (b)  n/n+2 '
(¢) n/nt3 . (d) n/nt4
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118.

119.

120.

121.

122.

(a) Pareto (b) Walras

(c) Leonteif : (@) All of these ‘ _ .
A Hges uds st ot At -
(a) I P (b) TEIH AT .
(c) ToBafes gnmar | (@ feast miontt gy

There is no unique supply curve in this market; is the statement which refers to
(a) Perfect competition (b) Monopolistic competition

{c) Monopoly (d) Oligopoly

- fem amre Re 3t feduz yast a9 &t 3ot 9; fou Es Heus 3

(a) YIS HASS & (b) Barfuardt yfsufasT &%

(c) Torfuarg &% (d) nmrrﬁ:lm Y]
‘Pure Ollgopoly is the market where a few firms produce

(a) close substitute goods (b) differentiated products

(c) identical products (d) - Any of these

‘Hu isurfuara’€a wrg I fTd §dint g B3ures Saer 98

(a) foae yfsmews sigmt ) S5z gt

(c) fEa fadhot Trgit | (d) feost R Rt @

The point of maximum social welfare on the grand Utlllty Possibility Frontler is called:
(a) Shut down point (b) Break-even point

(c) Point of inflexion (d) Bliss point
@a@umwaaﬁw@%mﬁaanwaﬁmw?fww@?%

(@) dedzofig (b) ¥zws fig

" (o) fesudt fig . @ femre fig

Voluntary Exchange Benefit Approach was given by

(a) Samuelson (b) Bowen

(¢) Erik Lindahl (@ JS.Mill

feda seteTr &9 ude ot ot

@) AfigErs o - () RSP

) Afex ﬁ-a'ws oy @ A\ s ora

Vertical Equity means

123.

General equilibrium approach is given by :

(@) Persons in similar circumstances. should be treated similarly.

(b) Persons in dis-similar circumstances should be treated dis-similarly.
(c) Bothofthese :

(d) None of these

YIS AHSST T N O

(@) FHIY TS ¥S B 56 AHgY fewow 9 oWt @

®) »m@uawﬁ!eﬁaa*mf?aﬁeaawm%
(¢ fege¥
(d) feost g agt s
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124, The more inelastic the supply of taxed goods, is the incidence on buyers.

*. (a) greater (b) smaller |
(c) zero (d) whole '
&4 nitts <Ag & wifte 3809 Yo, wdlewra €3 39
(a) nifa o (b) ue
(¢ fhEg (d) AT _

125. Regulation of consumer’s credit as an instrument of credit control was first tried in
(a) USA (b UK .
(c) France (d) India
 fsdizas & e o QuiasT St A o fears ufget =9 i faprr AT
(a) "It : | ® ga. .
© A @ ¥ ,

126. Charles Tibeout in his model observed that many types of public goods are
(a) Local (b) Pure
(¢) Club (d) None of these
graen ofage 3 BRR W fee fsdhem stz At fa nifga formt Ehit AR SFST 35

(a) B3 ; | () Ha |

(© aStndt . @) fegst fegr dgt adt

127. Wagner's “law of ever increasing state activity” was given by Adolph Wagner in
(a) 1850 - - (b) 1983
(c) 1883 S (d 1838
S ag T “a fafanr @ fsdze = o fon” wiSee Fase oo T famr A
@ 1850f . () 1983 &g |
() 18839 : (d 18381

128. ‘Full Employment’ is a situation characterized by absence of
(a) Voluntary unemployment - (b) Involuntary unemployment
(c) Unemployment : (d) Seasonal unemployment
yda rarg feR & nEdT oy TRt aet Afest G|
(2) e Sgwaret ®) riefes agmardt
(c) TgHaTST @ Pt ggrardt

129. ‘Real wage’ can be defined as

' () Money wage/general price level
(b) Money wage minus general price level
(c) Money wage at the base year
(d) Money wage inflation
Wi HAES'E UfISTHS altzr 7 Ao §
(@) FefoR HAESI/EIHS Uug
(b) Fefax Heget we@ AUES atHIUT
(c) nUd A ‘3 Hefea Hrgdt
(@) Fefea HAgdt e Aetst
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130. Various veérsions of ‘Quantity Theory of Money’ try to examine
(a)  Quantity of money and general level of prices
(b) Quantum of money in Circulation
(c) Inflation in the Economy .
(d) Money and Bond Marke} N . _ iy
‘Hea" @ UfoHTs a3’ 2 fefds Anaast 3 ferdt wig qos of afigg ot -
(a) HET T UfaHE w3 ST o AOT9S Uag
() THs &g year & Hizgr
(¢ nioH feery 39 yeoreSt
(d) HEIT W3 IS IAT '

131. Money multiplier depends upon

(a) Reserve-deposit ratio (b) Currency-deposit ratio
(¢) Monetary base (d) All of the above
Hed & {5939 &9er 3
(a) ISI-Fff niEr (b) -t s
(9) ¥efed nurg (d) Budsz AR _
- 132. In Keynesian demand for money model, ‘Bulls’ are speculators that expect .
E (a) Bond price to “fall’ ' (b) Bond price to ‘rise’
c)  Moves out of bonds to cash _(d) none of the above
1 € WeT €t Ha 1ss e 9% AT 78 A wTET g9 s -

(a) =3 13T 2 weE & - (b) B HI R TuE
(c) ==t 3 37 I w8 T8 (d) Budas Fet adt

133. In Kéynesian approach, demand for money is an
(a) increasing function of income only. _ : S
(b) increasing function of income and decreasing function of rate of interest.
(¢)  increasing function of rate of interest and decreasing function of income.
- (d) increagsinég.mction of income and rate of interest. : _
&G UgY 199, Hear o ¥
(@ rEs T fige Tue @58 3
(b) PHIS T U THS w3 feni S Tt O uizer @%s 3 |
(¢) Torra Tt T5 T Tuer ems »i3 ninvEs T Wioer 2Bs )
(d) »HEE w3 fon & T9 o Suer e 3
134. Absolute income hypothesis predicts -
(a) ~ decline in the marginal propensity to consume when families move to higher income

level.
(b) increase in average propensity to consume when families move to higher income
level. _
(©) decline in average propensity to consume when families move to higher income
level. '
(d) increase in the marginal propensity to consume when families move to higher
_ income level. '
{535 nmves fATTS Yo undt soer 3

(@) < ufge 9 »ies Uu9 ‘3 ugeR 95 3t AW QuEal yfesdt Rig oot
(b) T ufgeT &8 nmiEs Uue 3 udeR I8 3t WiFS Qs yfeedt s =

() 7 ufsed €8 »mies Uog 3 uder 96 3t Wiz Budar yfeadt e aoft |
(d) ﬁﬁm@awm%m@myquﬁaﬁfﬁw
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135.

136.

137,

138.

‘Imitative’ and ‘Emulative’ nature of consumption is associated with
(a) Absolute income hypothesis (b) Relative income hypothesis

() Permanent income hypothesis  (d) None of the above.

Susar & ‘gz B’ »i3 ‘IR w9’ T yfesst AYus

(@) f53® ries U3 58 (b) AU mmea ﬁ=|13'3 %
() ruEt nmes fAo3 a® @ Sudas ast st
According to Kaldor’s Business cycle, investment is directly related to
(a) Income (b) Rate of interest _
(¢) Stock of capltal (d) None of the above
THIFT & U TIT nigAW TR T Y3y AST 9 ¢

(a) MHES (b) ferm<tTa&®

() Yftemeass . (@) Budaz gt &t

The book titled ‘A Contribution to the Theory of Trade Cycles’ published in 1950 is
written by

" (@) Hicks (b) Samueison
(¢) Kaldor (d) Schumpeter
‘A Contribution to the Theory of Trade Cycles’, 1950 fRaBY ot Rz fadt aret A
(a) foam gnrar ) RfuQsAs Torar |
(c)  THIT P d) Hies g
The Monetary policy will be ineffective with the increase in money supply, when
(a) IS curveis horizontal (b) IS curve is vertical
(c) LM is vertical "~ (d) none of above
Hefaa & yaer & yodt e o0 o5 myz=rdt Jat
(a) SR deRY (b) Iseaaugér%x
() LMuzH? - (@ Busas a=t 5

139.

140.

LM curve is steep when

(a) Interest elasticity of money demand is low
(b) Interest elasticity of money demand is high
(¢) Income tax increases

(d) Income tax decreases

LM a9 & e5E It 36t 9 ve : :
(@) e iadformgexuzd (b)) Hew Ha S forA sex €9 9
() "HEEIIT Y (d) rHEs 3 e 9

Factors that shift the IS curve to the right are

(a) decrease in taxes and government spending

(b) increase in taxes and govt. spending

(¢) increase in govt. spending and decrease in tax
(d) decrease in govt. spending and increase in taxes

s a3 & IS To@ & AR WA UaR 5

(8) o9 »3 A9 © yau g ot

(b) TI N3 AJT L ude e ewr

(¢) FId ? uJe &9 Tor »i3 oot e it
(d) AIIT R uIe 9 it w3 gt R =or
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141.

142.

143.

144,

145.

Multiplier will be lower with e
(a) High MPC : (b) Low MPCc

(c) High MPI (d) LowMPS q
IR ufe I e
(a) BYMPC&® (b) Uiz MPCc &%
(¢ BIMPI&S (d) uzcMPS &%

Expansionary Fiscal policy will be more effective on income when given the lS schedule
(a) LM schedule is relatively flat (b) LM schedule is relatively steep

(c¢) LM curve is vertical (d) None of the above

ferf33 Ivart &St nmes €3 209 st JRe e IS 7ot @ Hared

(a) LM PO I5&SHSE ANSS & (b) LM g 3% 3t 3

() LMIETuget I (d Budas a=t &I

The establishment of GATT resulted in:

(a) Increased tariff rates (b) Decreased in total world trade
(¢) Increased protectionism (d) Lower tariff rates ' '
GATT & raus o &3iar faafer # : |

(a) =dort 2foe w9t M aas&ﬂeewaféaanﬂ
(¢) =ftmr Sftmree (@ e foe wat
Who has been appointed the first vice chairman of the newly created NltlAayog
(a) Kaushik Basu : b) Arvind Panagariyva = -~
(c) Abhijit Banerjee (d) Bibek Debroy "
=¥ 58 AT ot & Ul Qu-nis S s e fmr 30
(@) Sfw= ey ® wEffeumEr o el
(©) sz oot | @ fEeddm e

According to C.S.Q estimates of National Product, Secondary Sector mclude whlch of the

. followmg sub-sectors:

(a) Manufacturing Sector

(b) Manufacturing + Construction

() Manufacturing + Construction +Electnclty + Gas and Water Supply

(d) Manufacturing + Mining

THSST §3ue ¥ C.8.0. nEHS nigA™g, ar&&zaﬁaﬁarﬁ%wﬁ?m@u—asa
s Jer 3 ;

(a) TooH= 839

(b) ooz + Bt

(c) M+@H@+ﬁm+§rﬁm§mm§r

(d) feaws + wetfdar
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146. Demographic Dmdend in India is defined as:

(a) All Adult Population -

(b) Population excluding old people

'(¢) Population excluding children and old people

(d) Population which excludes unemployed persons

393 ¥ 76 via3 feaws § ufeartaz aﬁar Her J

(a) WSt T ASEH T

(b) PN I § AT T ASAIm

(c) ~ FaRfunT fap f&G* dfent w3 Tg9a 83t § T FEATNT

(d) TERfunr fan 9" Sgwars Sat § dAfer Aer 3 |
147. Development expenditure of the Central Government does not include

(a) Defence Expenditure

(b) Expenditure on public services

(¢) Expenditure on social and community services

(d) Grant to States '

avd A © feorA uafont e ks &t der

(a) Haftmr 3o (b) T3 Fet ‘I YUY

(©) FHWR 3 Tdtada Pt ‘Y ugg (d I

148. Gross domestic capital formation is defined as
(a) Flow of expenditure devoted to increase or mamtammg of capital stock
(b) Expenditure increased on physical assets only
(c) Production exceeding demand -
(d) Net addition to stock after deprecatlon
% wI Uit fsonz & ufesws atsr Afer 9
(@) gﬁmz'a?_;ew@a'n@afﬁn#uzmm?m
(b) . froe 3fzx RuShit °3 =fonr vgo
() YaFzglsuss
(d) ¥owe I e Ao g gu e

149, Our financial system has provided for the transfer of resources from the centre to the
~ states; the important means of resource transfer are:
(a) Tax sharing : (b) Grants-in-aids _
(c) Loans (d) All of these :
mﬁﬁﬁwﬁ%m?w%nﬁwaaﬂﬁmaﬁra nﬁ-mrréraeﬁr%

HJ3=YIE AU TS

(@) sT/E - ®) T
© fe | @ feoms
150. Which of the following is not viewed as a National debt ?
(a) Provident Fund ' (b) Life Insurance Policy .
(¢) National Saving certificates (d) Long-term Govemment Bonds
Jot fifant g fam & gwedt faz @ 39 3 w4t o wiwr
(@ yA3eds | ®) e gyt
(c) THIST TS YH'F U39 () Tow T At a1F
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